=
<
-

o(d @) (rad)
a(d cot(d))

1076

1072

T T T
i .
et s
o
i

T
—n—

T
bl

-
S
w
-
S
w

L
-3 -2 -1 0 1 2 3 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_CKF_50MtQCD

—e— DQM_mkFit_SoftQCD-updated
—— DQM_mkFit_SoftQCD-DNNsgcd100
—— DOM_mkFit_SoftQCD-DNNalliters

Ratio

o ™

[N N
ARARREANL T
pop—— | H

=7

P RARAREREREZRR:
|
N
|
= T T
o
[N
N

SICEWACL
oloa) (cm)

1072 R o e e e 10°?

1.2

Ratio
Ratio

iy
TITTTI[TTT T

b M-
-3 -2 -1 0 1 2 3 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

|
w
NoF=a : : i
|
N

=

. -

0P /P,

H
S
o

1072

Ratio

[ m— .
ﬁ':_.g;_l_

=
3]
LR

ull

TP n (PCA to beamline)




	Contents
	Page 1


